
Stat2470, Quiz #5, Spri Name

Instructions: Show all State any formulas used. l f  you use the
function you used, and hat you entered into i t ,  as well as any outpu

lculator, you should say which
I can only give part ial correct for

incorrect an:;wers if I something to grade.

t. Consider the di given byl(r) = {k^ln(") 'r  1 x <
( 0, otherwis . Find the value of k that makes

probabi l i ty distr ibut ion. Then f ind the equa on for the cumulative distr ibution.th is ;a  leg i t ima
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3 . Plot the inforn
where the perr
(or z) value is g
a.  Mean is  1L

rt ion on the graph of the normal distr ibutionr
lnt under the curve is given, or f ind the perc<
/en.
, the standard deviation is 18. Find p(X > L
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expression Q(z) = 0.1539.
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